## **Bid Proof**

## Bid Number: 10008910-11-L

**Bid Title:** Wastewater Pumping Removal and Disposal for Portable Toilets and Holding Tanks at Various City Locations

	ATLAS PUMPING SERVICE Vendor ID: TEMP-ATLAS P				Days ARO: Opt To Renew Pct. (%)	1 : N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedul	e 1										
Section	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	lumber	Quantity	Unit Price	Extension	Тах	Final
1	Complete Pump Out and Removal of Wastewater from one (1) approximate 4,000 gallon holding tank as specified, located at #17 Green, North Course. Service Frequency: Weekly, approx. 1,800 – 2,500 per complete pump out.						52 EA	\$573.00	\$29,796.00	\$0.00	\$29,796.00
2	Complete Pump Out and Removal of Wastewater from one (1) approximate 4,000 gallon holding tank as specified, located at Tee #6, North Course. Service Frequency: Weekly, approx. 1,800 – 2,500 per complete pump out.						52 EA	\$310.00	\$16,120.00	\$0.00	\$16,120.00
3	Complete Pump Out and Removal of Wastewater from one (1) approximate 4,000 gallon holding tank as specified, located at Tee #2, South Course. Service Frequency: Weekly, approx. 1,800 – 2,500 per complete pump out.						52 EA	\$310.00	\$16,120.00	\$0.00	\$16,120.00
4	One-Time Cost for emergency complete pump-out and removal of wastewater after normal scheduled hours of one (1) approximate 4,000 gallon holding tank as specified. Service Frequency: As needed.						1 EA	\$673.00	\$673.00	\$0.00	\$673.00
							Secti	ion 1 Subtotals:	\$62,709.00	\$0.00	\$62,709.00
							Schedu	ule 1 Subtotals:	\$62,709.00	\$0.00	\$62,709.00

	ATLAS PUMPING SERVICE				Days ARO:	1		Disc Terms - Days:	30	Addendum:	N/A
	Vendor ID: TEMP-ATLAS P				Opt To Renew Pct. (%):	N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Schedul	le 2										
Section	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	ımber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater, provide and replenish required chemical and toilet paper as specified, Weekly.						104 EA	\$10.00	\$1,040.00	\$0.00	\$1,040.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						312 EA	\$10.00	\$3,120.00	\$0.00	\$3,120.00
3	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 4 floating toilets; however, approx. 2 floating toilets are towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.						104 EA	\$42.00	\$4,368.00	\$0.00	\$4,368.00
4	Holding tanks (1,000 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 300-900 gallons per tank per complete pump out.						104 EA	\$235.00	\$24,440.00	\$0.00	\$24,440.00
5	Holding tank (17,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 5,000 gallons per complete pump out.						52 EA	\$690.00	\$35,880.00	\$0.00	\$35,880.00
							Secti	on 1 Subtotals:	\$68,848.00	\$0.00	\$68,848.00
Section	2										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	ımber	Quantity	Unit Price	Extension	Тах	Final
1	Holding tanks (300 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 100 gallons per tank per complete pump out.						416 EA	\$22.00	\$9,152.00	\$0.00	\$9,152.00
2	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. less than 500 gallons per complete pump out (1 restroom used by City staff, and Reservoir Keeper's house - not in use).						26 EA	\$220.00	\$5,720.00	\$0.00	\$5,720.00

	ATLAS PUMPING SERVICE				Days ARO: 1		Disc Terms - Days:	30	Addendum: N	J/A
,	Vendor ID: TEMP-ATLAS P				Opt To Renew Pct. (%): $\ N/A$		Disc Pct. (%):	0.00	Tax Rate Pct (%): $0$	
Schedul	e 2									
Section	2									
						Sectio	on 2 Subtotals:	\$14,872.00	\$0.00	\$14,872.00
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					156 EA	\$32.00	\$4,992.00	\$0.00	\$4,992.00
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.					26 EA	\$119.00	\$3,094.00	\$0.00	\$3,094.00
3	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 gallons per complete pump out.					52 EA	\$405.00	\$21,060.00	\$0.00	\$21,060.00
						Sectio	on 3 Subtotals:	\$29,146.00	\$0.00	\$29,146.00
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					468 EA	\$9.00	\$4,212.00	\$0.00	\$4,212.00
2	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 3 floating toilets; however, approx. 1 floating toilet is towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.					52 EA	\$42.00	\$2,184.00	\$0.00	\$2,184.00
3	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 - 3,000 gallons per complete pump out.					52 EA	\$310.00	\$16,120.00	\$0.00	\$16,120.00

Section 4 Subtotals: \$22,516.00 \$0.00

\$22,516.00

	ATLAS PUMPING SERVICE Vendor ID: TEMP-ATLAS P				Days ARO: $1$ Opt To Renew Pct. (%): $N/$	A	Disc Terms - Days Disc Pct. (%):	: 30 0.00	Addendum: 1 Tax Rate Pct (%): (	N/A )
Schedul	e 2									
Section	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numbe	r Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					832 EA	\$8.60	\$7,155.20	\$0.00	\$7,155.20
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.					26 EA	\$42.00	\$1,092.00	\$0.00	\$1,092.00
						Sect	ion 5 Subtotals:	\$8,247.20	\$0.00	\$8,247.20
Section	6									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numbe	r Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					364 EA	\$10.00	\$3,640.00	\$0.00	\$3,640.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					104 EA	\$10.00	\$1,040.00	\$0.00	\$1,040.00
3	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 2 floating toilets; however, approx. 1 floating toilet is towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.					52 EA	\$42.00	\$2,184.00	\$0.00	\$2,184.00
4	Holding tank (12,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 – 2,500 gallons per complete pump out.					52 EA	\$405.00	\$21,060.00	\$0.00	\$21,060.00
						Sect	ion 6 Subtotals:	\$27.924.00	\$0.00	\$27.924.00

<b>&gt;&gt;&gt;</b>	ATLAS PUMPING SERVICE Vendor ID: TEMP-ATLAS P				Days ARO: 1 Opt To Renew Pct. (%): N	J/A	Disc Terms - Days: Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	le 2									
Section	7									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numb	per Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					624 EA	\$9.00	\$5,616.00	\$0.00	\$5,616.0
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.					26 EA	\$42.00	\$1,092.00	\$0.00	\$1,092.00
3	Holding tank (20,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 5,000 gallons per complete pump out.					52 EA	\$1,269.00	\$65,988.00	\$0.00	\$65,988.00
						Sec	tion 7 Subtotals:	\$72,696.00	\$0.00	\$72,696.0
Section	8									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numb	per Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					208 EA	\$12.00	\$2,496.00	\$0.00	\$2,496.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					208 EA	\$12.00	\$2,496.00	\$0.00	\$2,496.00
3	Holding tank (2,500 gallons) Service/Frequency: Complete pump out and removal of wastewater from Reservoir Keeper's House, as specified, Weekly. Approx. 1,000 gallons per complete pump out.					52 EA	\$315.00	\$16,380.00	\$0.00	\$16,380.00
						Sec	tion 8 Subtotals:	\$21,372.00	\$0.00	\$21,372.0
						Sche	dule 2 Subtotals:	\$265,621.20	\$0.00	\$265,621.20

	ATLAS PU	UMPING SERVICE				Days ARO:	1		Disc Terms - Days:	: 30	Addendum:	N/A
	Vendor ID:	TEMP-ATLAS P				Opt To Renew Pct. (%)	: N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
							Subtotal	s for ATLAS PUMP	ING SERVICE:	\$328,330.20	\$0.00	\$328,330.20
										Miscellaneou	us Charges:	\$0.00
											Freight:	\$0.00
									Extraordir	nary Labor - 0 hours @	\$0.00/hour:	\$0.00
									Grand Total fo	r ATLAS PUMPING	SERVICE:	\$328,330.20
									I	Final Price (w/ Di	scount):	\$328,330.20
	DIAMON	D ENVIRONMENTAL SERVICES LP				Days ARO:	NN		Disc Terms - Days:	: 30	Addendum:	N/A
,	Vendor ID:	TEMP-DIAMOND				Opt To Renew Pct. (%)	: N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Schedul	e 1											
Section	1											
Item No.	Item Descri	ption	Stock Number	NB NR	Manufacturer	Product N	lumber	Quantity	Unit Price	Extension	Тах	Final
1	approximat #17 Green	Pump Out and Removal of Wastewater from one (1) te 4,000 gallon holding tank as specified, located at , North Course. equency: Weekly, approx. 1,800 – 2,500 per sump out.						52 EA	\$369.00	\$19,188.00	\$0.00	\$19,188.00
2	approxima Tee #6, No	Pump Out and Removal of Wastewater from one (1) te 4,000 gallon holding tank as specified, located at orth Course. equency: Weekly, approx. 1,800 – 2,500 per ump out.						52 EA	\$369.00	\$19,188.00	\$0.00	\$19,188.00
3	approxima Tee #2, Sc	Pump Out and Removal of Wastewater from one (1) te 4,000 gallon holding tank as specified, located at outh Course. equency: Weekly, approx. 1,800 – 2,500 per oump out.						52 EA	\$369.00	\$19,188.00	\$0.00	\$19,188.00
4	of wastewa approximat	Cost for emergency complete pump-out and removal tter after normal scheduled hours of one (1) te 4,000 gallon holding tank as specified. equency: As needed.						1 EA	\$860.00	\$860.00	\$0.00	\$860.00
								Seet	ion 1 Subtotals:	\$58,424.00	\$0.00	\$58,424.00

	DIAMOND ENVIRONMENTAL SERVICES LP Vendor ID: TEMP-DIAMOND				Days ARO: NM Opt To Renew Pct. (%): N/		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%):	N/A )
Schedul	e 1									
						Sched	ule 1 Subtotals:	\$58,424.00	\$0.00	\$58,424.00
Schedul	e 2									
Section	1									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater, provide and replenish required chemical and toilet paper as specified, Weekly.					104 EA	\$19.50	\$2,028.00	\$0.00	\$2,028.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					312 EA	\$58.50	\$18,252.00	\$0.00	\$18,252.00
3	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 4 floating toilets; however, approx. 2 floating toilets are towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.					104 EA	\$135.00	\$14,040.00	\$0.00	\$14,040.00
4	Holding tanks (1,000 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 300-900 gallons per tank per complete pump out.					104 EA	\$270.00	\$28,080.00	\$0.00	\$28,080.00
5	Holding tank (17,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 5,000 gallons per complete pump out.					52 EA	\$830.00	\$43,160.00	\$0.00	\$43,160.00
						Sect	ion 1 Subtotals:	\$105,560.00	\$0.00	\$105,560.00
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Holding tanks (300 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 100 gallons per tank per complete pump out.					416 EA	\$180.00	\$74,880.00	\$0.00	\$74,880.00

	DIAMOND ENVIRONMENTAL SERVICES LP Vendor ID: TEMP-DIAMOND				Days ARO: Opt To Renew Pct. (%)	NN : N/A		Disc Terms - Days Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	le 2										
Section	2										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
2	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. less than 500 gallons per complete pump out (1 restroom used by City staff, and Reservoir Keeper's house - not in use).						26 EA	\$112.50	\$2,925.00	\$0.00	\$2,925.00
							Secti	on 2 Subtotals:	\$77,805.00	\$0.00	\$77,805.00
Section	3										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						156 EA	\$29.25	\$4,563.00	\$0.00	\$4,563.00
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.						26 EA	\$67.50	\$1,755.00	\$0.00	\$1,755.00
3	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 gallons per complete pump out.						52 EA	\$345.00	\$17,940.00	\$0.00	\$17,940.00
							Secti	on 3 Subtotals:	\$24,258.00	\$0.00	\$24,258.00
Section	4										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						468 EA	\$87.75	\$41,067.00	\$0.00	\$41,067.00

	DIAMOND ENVIRONMENTAL SERVICES LP   Vendor ID: TEMP-DIAMOND				Days ARO: NN Opt To Renew Pct. (%): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: 1 Tax Rate Pct (%): 0	N/A )
Schedul	le 2									
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
2	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 3 floating toilets; however, approx. 1 floating toilet is towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.					52 EA	\$67.50	\$3,510.00	\$0.00	\$3,510.00
3	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 - 3,000 gallons per complete pump out.					52 EA	\$170.00	\$8,840.00	\$0.00	\$8,840.00
						Sectio	on 4 Subtotals:	\$53,417.00	\$0.00	\$53,417.00
Section	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					832 EA	\$127.20	\$105,830.40	\$0.00	\$105,830.40
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.					26 EA	\$67.50	\$1,755.00	\$0.00	\$1,755.00
						Sectio	on 5 Subtotals:	\$107,585.40	\$0.00	\$107,585.40
Section	6									
Item No.		Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					364 EA	\$68.25	\$24,843.00	\$0.00	\$24,843.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					104 EA	\$19.50	\$2,028.00	\$0.00	\$2,028.00

•••	DIAMOND ENVIRONMENTAL SERVICES LP Vendor ID: TEMP-DIAMOND				Days ARO: Opt To Renew Pct. (%):	NN N/A		Disc Terms - Days: Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu						1 11 1					
Section											
Item No.		Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
3	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 2 floating toilets; however, approx. 1 floating toilet is towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.						52 EA	\$67.50	\$3,510.00	\$0.00	\$3,510.00
4	Holding tank (12,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 – 2,500 gallons per complete pump out.						52 EA	\$360.00	\$18,720.00	\$0.00	\$18,720.00
							Secti	on 6 Subtotals:	\$49,101.00	\$0.00	\$49,101.00
Section	n 7										
Item No.	. Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						624 EA	\$95.40	\$59,529.60	\$0.00	\$59,529.60
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.						26 EA	\$67.50	\$1,755.00	\$0.00	\$1,755.00
3	Holding tank (20,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 5,000 gallons per complete pump out.						52 EA	\$575.00	\$29,900.00	\$0.00	\$29,900.00
							Secti	on 7 Subtotals:	\$91,184.60	\$0.00	\$91,184.60
Section	18										
Item No.	. Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						208 EA	\$65.00	\$13,520.00	\$0.00	\$13,520.00

<b>&gt;&gt;&gt;</b>	DIAMONI	D ENVIRONMENTAL SERVICES LP TEMP-DIAMOND				Days ARO: Opt To Renew Pct. (%):	NN N/A		Disc Terms - Days: Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	lle 2											
Section	8											
Item No.	Item Descrip	ption	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
2	Service/Fre	e Shoreline Toilets, Portable Tanks (15 gallons each) equency: Complete pump out and removal of as specified, Weekly.						208 EA	\$65.00	\$13,520.00	\$0.00	\$13,520.00
3	Service/Fre wastewater	k (2,500 gallons) equency: Complete pump out and removal of from Reservoir Keeper's House, as specified, pprox. 1,000 gallons per complete pump out.						52 EA	\$300.00	\$15,600.00	\$0.00	\$15,600.00
								Secti	on 8 Subtotals:	\$42,640.00	\$0.00	\$42,640.00
								Schedu	le 2 Subtotals:	\$551,551.00	\$0.00	\$551,551.00
						Subtotals for DI	MOND E		SERVICES LP:	\$609,975.00	\$0.00	\$609,975.00
										Miscellane	ous Charges:	\$0.00
											Freight:	\$0.00
									Extraordir	nary Labor - 0 hours @	2 \$0.00/hour:	\$0.00
								Grand Total for	DIAMOND ENV	IRONMENTAL SEP	RVICES LP:	\$609,975.00
									I	Final Price (w/ [	)iscount):	\$609,975.00
•••	RL BATES	S INC AL-MAX SANITATION				Days ARO:	NN		Disc Terms - Days:	: 30	Addendum:	N/A
	Vendor ID:	TEMP-RL BATE				Opt To Renew Pct. (%):	N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Schedu	lle 1											
Section	1											
Item No.	Item Descrip	ption	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	approximate #17 Green,	Pump Out and Removal of Wastewater from one (1) e 4,000 gallon holding tank as specified, located at North Course. equency: Weekly, approx. 1,800 – 2,500 per ump out.						52 EA	\$375.00	\$19,500.00	\$0.00	\$19,500.00
10/4/201	0				Pid	Proof for 10008910-11-						Page 11 of 1

	RL BATES INC AL-MAX SANITATION Vendor ID: TEMP-RL BATE				Days ARO: Opt To Renew Pct. (%):	NN N/A		Disc Terms - Days Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedul	e 1										
Section 1	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
2	Complete Pump Out and Removal of Wastewater from one (1) approximate 4,000 gallon holding tank as specified, located at Tee #6, North Course. Service Frequency: Weekly, approx. 1,800 – 2,500 per complete pump out.						52 EA	\$375.00	\$19,500.00	\$0.00	\$19,500.0
3	Complete Pump Out and Removal of Wastewater from one (1) approximate 4,000 gallon holding tank as specified, located at Tee #2, South Course. Service Frequency: Weekly, approx. 1,800 – 2,500 per complete pump out.						52 EA	\$375.00	\$19,500.00	\$0.00	\$19,500.00
4	One-Time Cost for emergency complete pump-out and removal of wastewater after normal scheduled hours of one (1) approximate 4,000 gallon holding tank as specified. Service Frequency: As needed.						1 EA	\$525.00	\$525.00	\$0.00	\$525.00
							Secti	ion 1 Subtotals:	\$59,025.00	\$0.00	\$59,025.00
							Sched	ule 1 Subtotals:	\$59,025.00	\$0.00	\$59,025.00
Schedul	e 2										
Section 2	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater, provide and replenish required chemical and toilet paper as specified, Weekly.						104 EA		\$0.00	\$0.00	\$0.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						312 EA		\$0.00	\$0.00	\$0.00
3	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 4 floating toilets; however, approx. 2 floating toilets are towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.						104 EA		\$0.00	\$0.00	\$0.00

		INC AL-MAX SANITATION				Days ARO:	NN		Disc Terms - Days		Addendum:	N/A
	Vendor ID:	TEMP-RL BATE				Opt To Renew Pct. (%)	N/A		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Schedu	le 2											
Section	1											
Item No.	Item Description	on	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
4	Service/Freque wastewater as	(1,000 gallons each) Jency: Complete pump out and removal of s specified, Weekly. Approx. 300-900 gallons per plete pump out.						104 EA		\$0.00	\$0.00	\$0.00
5	Service/Frequ	(17,000 gallons) Jency: Complete pump out and removal of s specified, Weekly. Approx. 5,000 gallons per np out.						52 EA		\$0.00	\$0.00	\$0.00
								Sect	ion 1 Subtotals:	\$0.00	\$0.00	\$0.00
Section	2											
Item No.	Item Description	on	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Service/Frequ	s (300 gallons each) Jency: Complete pump out and removal of s specified, Weekly. Approx. 100 gallons per tank pump out.						416 EA		\$0.00	\$0.00	\$0.00
2	Service/Freque wastewater as weeks). Appr	(5,000 gallons) Jency: Complete pump out and removal of s specified, Bi-Weekly (i.e. once every two rox. less than 500 gallons per complete pump out sed by City staff, and Reservoir Keeper's house -						26 EA		\$0.00	\$0.00	\$0.00
								Sect	ion 2 Subtotals:	\$0.00	\$0.00	\$0.00
Section	3											
Item No.	Item Description	on	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Service/Frequ	ets (15 gallons each) Jency: Complete pump out and removal of s specified, Weekly.						156 EA		\$0.00	\$0.00	\$0.00
2	Service/Freque wastewater as weeks). Appro	t, S.S. Relief from Topper Industries (500 gallons) uency: Complete pump out and removal of s specified, Bi-Weekly (i.e. once every two ox. 300 gallons per complete pump out. Floating I to shore by the City for pumping.						26 EA		\$0.00	\$0.00	\$0.00

	RL BATES INC AL-MAX SANITATIONVendor ID:TEMP-RL BATE				Days ARO: NN Opt To Renew Pct. (%): N/A		Disc Terms - Days Disc Pct. (%):	: 30 0.00	Addendum: 1 Tax Rate Pct (%):	J/A
Schedul	ıle 2									
Section	13									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
3	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 gallons per complete pump out.					52 EA		\$0.00	\$0.00	\$0.00
						Section 3 Subtotals:		\$0.00	\$0.00	\$0.00
Section	14									
Item No.		Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					468 EA		\$0.00	\$0.00	\$0.00
2	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 3 floating toilets; however, approx. 1 floating toilet is towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.					52 EA		\$0.00	\$0.00	\$0.00
3	Holding tank (5,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 - 3,000 gallons per complete pump out.					52 EA		\$0.00	\$0.00	\$0.00
						Section 4 Subtotals:		\$0.00	\$0.00	\$0.00
Section	15									
Item No.		Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					832 EA		\$0.00	\$0.00	\$0.00
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping.	)				26 EA		\$0.00	\$0.00	\$0.00

	RL BATES INC AL-MAX SANITATION Vendor ID: TEMP-RL BATE				Days ARO: $NN$ Opt To Renew Pct. (%): $N/A$		Disc Terms - Days:	30 ).00	Addendum: N Tax Rate Pct (%): $0$	//A
Schedul	e 2									
Section	5									
						Sectio	on 5 Subtotals:	\$0.00	\$0.00	\$0.00
Section	6									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					364 EA		\$0.00	\$0.00	\$0.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					104 EA		\$0.00	\$0.00	\$0.00
3	Floating Toilets, S.S. Relief from Topper Industries (500 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Total of 2 floating toilets; however, approx. 1 floating toilet is towed to shore by the City per week for pumping. Approx. 300 gallons per complete pump out.					52 EA		\$0.00	\$0.00	\$0.00
4	Holding tank (12,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 1,000 – 2,500 gallons per complete pump out.					52 EA		\$0.00	\$0.00	\$0.00
						Section 6 Subtotals:		\$0.00	\$0.00	\$0.00
Section '	7									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.					624 EA		\$0.00	\$0.00	\$0.00
2	Floating Toilet, S.S. Relief from Topper Industries (500 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Bi-Weekly (i.e. once every two weeks). Approx. 300 gallons per complete pump out. Floating toilet is towed to shore by the City for pumping					26 EA		\$0.00	\$0.00	\$0.00

toilet is towed to shore by the City for pumping.

<b>&gt;&gt;&gt;</b>	RL BATES INC AL-MAX SANITATIONVendor ID:TEMP-RL BATE				Days ARO: Opt To Renew Pct. (%)	NN : N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/A 0
Schedu	lule 2										
Section	n 7										
Item No	o. Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
3	Holding tank (20,000 gallons) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly. Approx. 5,000 gallons per complete pump out.						52 EA		\$0.00	\$0.00	\$0.00
							Secti	on 7 Subtotals:	\$0.00	\$0.00	\$0.00
Section	n 8										
Item No		Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Portable Toilets (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						208 EA		\$0.00	\$0.00	\$0.00
2	Removable Shoreline Toilets, Portable Tanks (15 gallons each) Service/Frequency: Complete pump out and removal of wastewater as specified, Weekly.						208 EA		\$0.00	\$0.00	\$0.00
3	Holding tank (2,500 gallons) Service/Frequency: Complete pump out and removal of wastewater from Reservoir Keeper's House, as specified, Weekly. Approx. 1,000 gallons per complete pump out.						52 EA		\$0.00	\$0.00	\$0.00
							Secti	on 8 Subtotals:	\$0.00	\$0.00	\$0.00
							Schedu	Ile 2 Subtotals:	\$0.00	\$0.00	\$0.00
					Subtotals	for RL BA	TES INC AL-MAX	SANITATION:	\$59,025.00	\$0.00	\$59,025.00
									Miscellaneou	s Charges:	\$0.00
										Freight:	\$0.00
								Extraordin	ary Labor - 0 hours @ 3	\$0.00/hour:	\$0.00
		Grand Total for RL BATES INC AL-MAX SANITATION:							TATION:	\$59,025.00	
								F	inal Price (w/ Di	scount):	\$59,025.00